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QUESTION 1

Which statement regarding drive failure is true?

A. Queries and transactions are not interrupted by drive failure if their data is not on the failed drive.

B. Queries and transactions are not interrupted in the event of a drive failure.

C. Queries and transactions are interrupted by drive failure because there is no drive mirroring for drives.

D. Running queries and transactions will finish, but new transactions will not be allowed till drive is changed.

Correct Answer: A

QUESTION 2

Which two products or methods can be used for disaster recovery when using IBM Netezza Performance Servers?
A. Cloud Pak for Data

B. InfoSphere Data Replication

C. Netezza Replication Services

D. Data Serialization

E. NPS Backup and Restore

Correct Answer: BE

QUESTION 3

What ap cli command is used to disable a node?
A. ap node power off

B. ap node set__personality fail

C. ap stopnode

D. ap node disable

Correct Answer: D

QUESTION 4
What is required in order to restore a specific table using the nz_restore support tool?

A. A table needs to be backed up by using nzbackup utility.
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B. A table that is being restored must have the same name in the backup set.
C. The userspace must be provided
D. The table structure (DDL) needs to exist

Correct Answer: A

QUESTION 5

By default, when are the postgres logs rotated on an IBM Netezza Performance Server?
A. hourly or greater than 100 MB

B. daily or greater than 1 GB

C. monthly or greater than 10 GB

D. weekly or greater than 5 GB

Correct Answer: A
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